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&/ v —2 : 8-Pin SOP(JEDEC)

No. HRA BREH B & r/n W EREE
1 |EEHE Ta=125 °C, V = Vopr max. 2000 h 0/22 |HRREERBT S &
2 |mEEEs 7R " Ta=85 *C, RH=85% 2000h | 022 |BREHKEBETHE
V = Vopr max.
- o — — 5
3 |FLuswsunasqpzr n |18T1807CRAZES%P=2.3x10"Pa 96h | o2 |BMERmEEERTECL
V = Vopr max.
4 |SERE Ta=150 °C 2000 h 0/22 |HBREERRETSH L
5 |EERRHE Ta=—65 °C 2000 h 0/22 |WBRHABRERET S &
= 1x | 0 3 -
6 |BE]AYAII-1 Ta=85 °C, V= Vopr max. 10°%ycles 0/22 |HRamfiEEHRET S &
8 x _
7 |BEBRRAYAIIL-2 Ta=105 °C, V= Vopr max. 10%ycles 0/22 |HFBREFRT S &
5%
i > _ —- o — 1] O 5 :
8 |EEH]RHYAIIL-3 Ta=125 °C, V= Vopr max. 10%ycles 022 |BRMBEFBRTH &
9 [BEY,L (5" Ta=150 °C ¢ —65 °C, %& 15 % 1000 cycles | 0/22 |MSREKEBRT S &
HWERBREBRRTHIL
10 |IFAFEfERE 1 (U 7R—) 7 T=260 °C, 10s SHE 0/22 ,,*;;f BEALEC L
" } oy #2 T=380°C, 55 (FAFFaTEEE) HWERREBRRTLHIL
11 | [FAEmEYE 2 (AT T) HE U — K8 2 022 | piga | mampisr = &
. HEBRRERRTHIL
12 | IZAETEME 3(7n—) ¥ T=260 °C, 10s 1@ 0/22 %gi,ﬁﬁﬁa%:t
FRoaRE A LA IR
i #3 T=245 °C ThdL
13 | IZA 1A A TH + Sn-3.0Ag-0.5C °5 | Ol emmams 0 95k LS
FHTEOLNSZ L
AAY AP 40um L
14 |4 25 1 (ZRRH) Ta=30 °C, RH=60% 4000h 0/6 Z;J pye z'r b A0um 2R
15 |4 RA2GCEEYA1 ) Ta=85°C & -40°C 1500 cycles | 0/6 Z;Z?Z%Z#4&mqu
I D4 RABY A XD 40 UTF
16 |74 XN 3 (BESZRFT) Ta=55 °C, RH=85 % 4000h 0/6 ThBHC L #m
17 FAEEEEEE Ta=125°C & -40°C 2000 oveles | 022 VR EED 50%LL LD
(A MEBRE) [$A 1241 : Sn-3.0Ag-0.5Cu y MEEMIETL L
18 | ) — K5l -8R Y &E 5|38 : 5.0N 30s 011 |U—FHARELEWVNI &
19 | ) — FehIF5RE 513&A : 25N 45 EHR YT 2 0/11 |U—FABEELIEWNC &
_ V=+2000 V, C=100 pF, R=1.5 kQ . -
it E 1(HBM 4t ; =
20 |FEMEL( ) Vec B GND HiE 5[ 05 |EGBKREHRETHL
21 | #EMmE2(CDM) V=t500V #HE, EHKE 1[m 05 |EGBKEHRETHL
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SyFTyTEEL _
22 +100 mA, V = Vopr max. 1[H 05 |SYFF7yFLEWNI L
(NILRABRFEANZE) pr e
SYFTy TEE2 _
23 - V = Vopr max.mh 5 iREDBEE 1[H 05 |ZYFF7TyvT LRI L
(EEATEEE) P =
) Vopr max.= XEIMEEE
#1,2,3 : AILEZEER, V) —XIZHBEEKT 5.
Al A B (#1)
BEBRE RiE IR #2om B
. Ta=85 °C )70—3ME
Ti;;iilc RH=85 % T=260 °C
- t=168 h t=10 s
Al L B (#2)
=BRE R AL IR NI
. Ta=85 °C
Tat‘_lzif’h c RH=85% —
a t=168 h
Al A I (#3)
BBRE R EALIE
Ta=105 °C
— RH=100% —
t=8 h
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